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Secant method Method of False Position
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Uads [1, 2] il 4 adaldll 43yl f(x)=x*In(x)-1 Al w @il 3l as
.€=0.001

Xx1=1; Xy=2; f(X1)=-1,' f(X2)=03863,

12-1]=1

_1:03863-2+(-D _ .
YT T 03863— (—1)
(x)=-0.0652

X1=X2=2; Y1=Y,=0.3863; x,=x=1.7213; y,=y=-0.0652;
|1.7213 - 2|=0.2787

_ 2%(—0.0652) —1.7213 % 0.3863
B —0.0652 — 0.3863

f(x)= -0.0027

= 1.7615

X

X1=X2=1.7213; y1=y,=-0.0652; x,=x=1.7615; y,=y=-0.0027;
|1.7615—-1.7213|=0.0402

~ 1.7213 % (=0.0027) — 1.7615 * (—0.0652)
B —0.0027 — 0.0652

f(x)=-3.5784e-5;

b = 1.7632



X1=X,=1.7615; y1=y,=-0.0027; x,=x=1.7632; y,=y=-3.5784e-5;

11.7632 - 1.715|=0.0017;

x=1.7632 Gsthall sl s
Matlab 2 4aly adaldl) 48y oy Galdd) el yul)
clc
f=inline('x*log(x)-1");
xl=input('xl= "');
x2=input('x2= "');
n=input('n= ') ;
yl=£f(x1);
y2=£f (x2) ;

for i=l1l:n
x=(x1*y2-x2*yl) / (y2-yl) ;
y=£(x);
x1=x2;
yl=y2;
X2=X;
y2=y;
disp (x)
if abs(x2-x1)<=0.001
break
end
end
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.£=0.001 Waiy 5[1, 2] ) 4 f(x)=3x — cos(x)-1=0 .1
£=0.001 Uazys[1, 2] 58l & f(x) =x®—x—1=0 .2



